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2N 248
H: QIRAZAH(SAHES)
Sl RIAZA Y BM=X N (sl &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O#AIE Jtx2I H& 8,000& * 5& * 1504 6,000
oIt a2  200,000& * 12& 2,400
OsYIlgEBR (H+4B
170,000& * 12& 2,040
O8I dxz 50,000 * 404 ~ 12& 2,400
OFENEAE AZE & 2
150,000& * 12& 1,800
3294l 140,580 92,284
03322 % MA 72,130
&I 2 2R3 5,000,000& * 12& 60,000
~HAIE S L FAXR S 100,000& = 12& 1,200
-HIAZSS=AIE &2
60,000& = 24 = 12& 1,440
“FNENsSE 22 600,000& = 12& 7,200
-HASZE WX MIIe3
1,440,000& 1,440
-ESIENEHRE S 100,000& * 23] 200
-grgt2tel At 8 2l &yl 50,000& * 13l 50
SFAYSAIEE 50,000& = 12& 600
OH ZHl 9,240
-Her A Z | 11,000& * 8AlI2F = 105 9,240
OAl&&EH SX2eldl 27,960
-A 28 XHI(3,715m) 5,000,000& 5,000
-OlE0U2 A 1,800,000& 1,800
-HlaZ A& 1,500,000& * 2JH 2 3,000
S =UES 100,000& * 1CH 100
-H&E&H |X2e 190,000& * 24CH 4,560
-HAS2E 270,000 = 5000 & 13,500
OFAMN Z2F SX22 9,000,000 9,000
OFAN 28 Y gt H A 9,000,000 9,000
OFEA 23 A =2 500,000& = 23| 1,000
O Xt &k Bty 5,350
-4~ 82, AESEXN 2,605,000& * 2CH 5,210
-AEFHAI =2 70,000& * 23] 140
ORolHHIAIAE 520,000& = 12& 6,240
O=2d 24 HIAUAAE AIER2
55,000& = 12& 660
XeAsl 2 =B oM X 1,200 1,200
28t 2 A Y| 1,200 1,200
01 AP 2t2ld] 1,200 1,200
OXYABEEEEOAME S &A £
20,0002 * 159 * 43| 1,200
HARDAIEZE(SHES) 255,016 207,618




2N 848
N SUARDALEA(SHE)
Sl ARBAYE (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
L2AEAHEFA 255,016 207,618 47,398
QldoZE ¥ A2 A 102,276 98,898 3,378
101 @124l 13,731 8,898 4,833
04 JIZHHZ2Z2XNSE+ 13,731 8,898 4,833
OusEL2 84d IJtRI| A2 13,731
= 68,7203 * 2H » 90¢ 12,370
-ALEEE DRSS 12,369,600& * 11% 1,361
201 ¢er24] 6,600 10,000 A 3,400
02 =224l 6,600 0 6,600
OEXNOE HE2AAE(D-DAS) = Al2elt
6,600,000& 6,600
401 Al HIZ 201 I 81,945 80,000 1,945
01 A& HI 56,000 55,000 1,000
OAx7ARAE X& S =E&&2Hl 6,000,000 6,000
Ok2 S N4 |RXNE=H 50,000,000& 50,000
03 Al 2 THHI 25,945 25,000 945
Oz ¥ sta&Ed &4 dxt=x 20,000,000 20,000
ONM&ZHl Xz 4,000,000 4,000
oIl & & =cltl 1,000, 000& 1,000
OA7S FASAMY FRLHY
105,000,000& * 0.9% 945
228 AMS 35,500 28,720 6,780
201 ¢et24] 1,000 1,000 0
01 At 22l 1,000 1,000 0
O0st2 s8d Jt3RJ 23+
1,000, 000& 1,000
206 M= Hl 15,000 14,720 280
01 M= 4l 15,000 14,720 280
Ooutstt2 84d IJtRIl Mz 7¢
3,000,000& 3,000
Ootst2 s4& JtRIIAMY SXH
12,000, 000& 12,000
401 Al HI K 201 I 19,500 13,000 6,500
01 A& HI 15,500 9,000 6,500
Ootst2 84d JHRI M==Y
3,500,000& = 33l 10,500
Otst2 843 |FX2elALg  5,000,000& 5,000
03 A& =2 THHI 4,000 4,000 0
Ootsta2 s4dd Jt3J| ZHledxzs
500,000& * 8¢ 4,000
F I E O 0l &t 117,240 80,000 37,240




2N 248
Hu: SHAROANYEN(SHE)
Sl ARBAYE (B9 ®R)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
401 AIEBI L 2CHEI 85,000 80,000 5,000
01 A& dl 85,000 80,000 5,000
ONEHel MHARAX |X2el 10,000,000 10,000
O=xd1el 4M2 X4 & HIX &X
50,000, 000& 50,000
OsuUel Hataeldl 25,000,000& 25,000
405 TtatFH S 32,240 0
01 MM ESHS 32,240 0
oxs dAMEs =235 7 32,240,000& 32,240
HH2HZH(BES) 162,764 152,824
l=2ddl(s&88) 162,764 162,824
Jl=23dHl 162,764 162,824
201 £Eet23E | 76,204 76,264
01 At 22l bl 51,910 51,970
Ogalag(d=2dl) 14,400,000& 14,400
Ooggt+=EHl 8,700,000& 8,700
O=&Hl 8,290,000& 8,290
OSgJl gxz 200,000& = 200 = 122 4,800
OdFEH 225 74| 15,720
-ZfZed 8,800
A 440,000& = 20H » 45 = 23 7,040
- Eg 440,000 * 20H » 23 1,760
-gotTely 200,000 » 1404 = 23 5,600
-SMII(EH cg)
200,000& 104 = 32 600
—FAX 120,000& » 204 = 32 720
02 =524t 24,294 24,294
O332e3 ¢ MAM(fER2) 20,000,000 20,000
O =X E=Hl 4,294
-CHII s AR 121 1,300,000& = 2601 * 5% 1,690
-Z2H 4,000,000 * 16CH = 2% 1,280
-= A 15,000,000& * 100 = 2% 300
—FAX 600,000& » 2CH = 2% 24
-CCTV & & & 2,000,000& = 10CH * 5% 1,000
202 o4 Hl 64,800 64,800
02 A0l 64,800 64,800
O A0l 225,000& » 249 = 128 64,800
203 2R =AY 11,760 11,760
01 J1Z22gg 28| 6,600 6,600
os% 550,000& * 128 6,600




<

n0

Kio

Hl w

H3r
Wikd
RIS

960

Off &t 24

960
960
4,200
4,200

KJ
Kt
oF
ol

e

02 &t

4,200

128

40,0003 = 24Y
2 x

350,000




